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S1: What would you like? S1: What would you like? S1: What would you like?

S2: I"d like a sandwich and coffee. S2: I"d like a sandwich and coffee. S2: Sandwich. Coffee.

S1: A sandwich and coffee?(D S1: (474 — F%E L T)Here you are. How much is it?

S2: Yes. I'd like hot coffee.@ S2: How much is it? St: ...

S1: (#7— F%JE L T)Here youare. | S1: 330 yen, please. T: BERIEWL 5TT D,

S2: How much is it? S2: OK. SI:...

S1: A sandwich is 180 yen. Coffee is T: 330 yen, please.

150 yen.® 330 yen, please. S2: OK.

| S2: OK. - -
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